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1636 75.256 46 | 6544 | 1636 | 4 Il e 5
1690 91.256 54 | 16.000 | 2000 | 8 paw 5 6
1690 87.876 52 | 3380 | 1690 | 2 25 Sy 7
1690 70.976 42 | 16900 | 1690 | 10 pod g 8
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1951 126.829 65 | 5853 | 1951 | 3 o 3 S 10

20 « 1500 /20 —» 1500 (1

(20 = 1500) + (15 1600)/35 — 1543 (2

(20 % 1500) + (15 % 1600)+ (20 % 1800) /55 — 1636 (3
(55 %1636) - (5 %1636)/ 50 —» 1636 (4

(46 % 1636) + (8 %2000)/54 — 1690 (6

(54 %1690 )- (2 % 1690)/ 52— 1690 (7

(42 %1951 )+ (20 2500 )/ 62 — 1951 (9

(62 %1951)+ (3%1951)/65 — 1951 (10
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